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1.2015 # &9 gfAad Ysic fraa S 42
(A) AT Agelfas (Monika Radulovic)
(B) = gestaw (Pia Wurtzbach)

(C) 3if@3meaT el (Asiadna Gutierrez)
(D) 3nfafaar SsaA (Olivia Jordan)

Sol.

¢ 2015 Miss Universe paegent was held in
AXIS in Las Vegas, Nevada, United States.
e Pia Wurtzbach won the 2015 Miss Universe
pageant.

¢ 80 contestants competed for the crown.

2 frafaf@a eieor # T8 s & fav fFa
A Regl #r 39w & seo Ar s wfge?

3+2x6-4+5=10
A+ dar +
B. x dum +
C. = dr -
D. + @ar x

Sol. fa@ed (A), (+ 3R +) g ured g1 §;
3+2x6-4+5=10

Hhd dgeled & dlg

3+2x6-4+5

9-4+5

10

ST, [dehed A HEI 3T Bl
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3.af 2,?frtanetrn?rﬁ|
(A) 3/2 (B) 1/2
(C) 3 (D) 3
A. (B)
B. (C)
C. (A)
D. (D)

J3
Sol. sin 8= 2 ,

then 6 = 60 degrees
then tan 8 = V3

4 RETeT (Real) foner &3 &1 #er 872

Sol.

e The Brazilian real is the official currency of
Brazil.

e The value of 1 Brazilian real is approx 17
rupees.

¢ It was introduced on 1 July 1994.

5.9 &1 ST a5 fohasd garT Farferd giar §?
(A) gar
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Sol.

o STel Tsh HENMNRI @ d¥HSS de gedr AR
R & g% & F gy T TRR 1T &1
o3 H, I FEENRT A Ul @ IH FE
STl g% FelTd gl

6.5 ¥ Rvw g # ToH-
(A) GMT

(B) UTC

(C) EDT

(D) BMI

A. (D)

B. (C)

C. (A)

D. (B)

Sol. GMT, UTC and EDT are time zones.
BMI refers to the body mass index.
Hence, BMI is different from others.

73 L\.XD=48’ Ox5:24, 0x0=8

ar GxA - ?
A 12
B. 16
C. 24
D. 32
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Sol.
Here the number coded for the given symbols
as shown as below:

A x O=48
6 x 8 =48

OxA=24
4 x 6 =24

0x0=8
2x4=8

So, Ox A =2x6 =12
Hence, option A is correct answer.

8. ¥ ¥ waEH et A |
15/20, 48/60, 21/28, 75/100
(A) 15/20 (B) 48/60

C) 21/28 (D) 75/100

)

oY)

D)
C)
A)

oo w >

Sol. In the simplest forms

15/20 = 3/4,
48/60 = 4/5,
21/28 =3/4,

75/100 = 3/4

Thus 48/60 is unique



http://www.gradeup.com/
https://gradeup.co/super-subscription/ssc-exams?source=eyJwYWdlTmFtZSI6IlNTQ2F0YWxvZ3VlIiwic291cmNlIjoiRXhhbUxpc3QifQ==

www.gradeup.co

9.9l Fr Flad & REar uer IR @i &
afkage T T&TH FAT §?

(A) T« (Stem) (B) I3 (Roots)

(C) Smgetd (Xylem) (D) 3&ar (Petiole)

Sol.

« Xylem transports water and solutes from the
roots to the leaves.

e The phloem carries nutrients up and down
the plant.

¢ At night, when stomata close, the water is
held in the stem and leaf by the cohesion of
water molecules to each other as well as the
adhesion of water to the cell walls of the
xylem vessels and tracheids.

10.9fcy ar SEeT Tefaw fora e & ar?
(A) T, TH. T. USA (B) o=

(C) e fae=T (D) wiT

A. (C)

B. (D)

C. (A

D. (B)

Sol.

e Titanic was a British passenger liner that
sank in the North Atlantic Ocean in 1912.

e |t belonged to Great Britain.

e [t was built in Belfast, Ireland, in the United
Kingdom of Great Britain and Ireland.
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1.8 F (a2+1)(a>-1) - a°
(A) 1/a?
(B) @?

(C) -1/a°

(D) -al(a - 1)
A. (D)

B. (C)

C. (B)

D. (A)

Sol. Given that, (a®+1)(a*1) - a°

) (”% +1)(a2—1)—a?
14+a%,, o 9

_(”—2)(” —1—a
4 )

(U.- 5 ].) — a2

a

= -1/a?

12.FFefEa & @ fFasr 2015 # #asss
tfaaes $R fhed (Animated feature film) &
T e &R St 872

(A) I 3w g T (Song of the Sea)

(B) fsrer €T (Big Hero)

(C) & ot 3iTh T AH &apaTr (The tale of princes
Kaguyo)

(D) g sTed gled (The box trolls)

A. (A)

B. (D)

C. (B)

D. (C)

Sol.
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eBig Hero 6 is a 2014 American 3D
computer-animated superhero film.

e [t was the highest-grossing animated film of
2014.

e [t won the animated feature award.

13.21eT |1gs Plesh REPR & FEATAT glet aTel
YA Ifad HieT A?

(A) JZARTST YT (B) T Harert

(C) FeIsid T (D) &faemr =i

A. (C)

B. (A)

C. (D)

D. (B)

Sol.

e Devika Rani was the first recipient of the
Dadasaheb Phalke Award.

e She got the award in 1969.

e She is also regarded as the “first lady of
Indian cinema".

14.20 T8I0 &1 3harfordT ATe 15.5 §| 918
H 9 7137 TR v fAREToT arerddt & 24 S s9
42 ug forar sar o1 ar @@y Arew (Mean) &r
g Sl@e?

(A) 14 (B) 14.4

(C) 14.6 (D) 15

A. (A

B. (D)

C. (C)

D. (B)

Sol. Incorrect total sum = 20x15.5 = 310
Since 24 is misread as 42
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Correct sum = 310 + 24 - 42 = 292
Correct mean = 292/20 = 14.6

15.

|[|Commonl]|

fAder Aefaf@a SeerY &1 eaad & A=
feT 7T geat & 3w QST

70 gfFaat Fr frdr aidt #, 52 3ESh &t
Tha § aur 26 S AT FHa

IIEnd]||

(A) 8 (B) 10

(C) 12 (D) 6

A. (D)

B. (C)

C. (A)

D. (B)

Sol. English = 52
French = 26

Both English and French = 52+26 - 70 = 8

16.fhder =afead % g St TAha 87
(A) 8 (B) 16

(C) 18 (D) 24

A. (A)

B. (D)

C. (B)

D. (C)

Sol. Only french = 26 - Both English and
French = 26 - 8 = 18

17.fFae cafea % 3RS aid @6 82
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Sol. English = 52
French = 26

Both English and French = 52+26 - 70 = 8
Only English = 52 - 8 = 44

18.3ifeeIad & et HT [T HaT 82
(A) @Ter (B) afrerr

(C) et (D) el

A. (C)

B. (A)

C. (B)

D. (D)

Sol.

¢ Octopus has blue blood.

e They evolved a copper rather than the iron-
based pigment that is called hemocyanin,
which makes its blood blue.

19.198 3R 78 Ush TA.HL.UG (HCF) AT Y]
(A) 8 (B) 9

(C) 6 (D) 7

A. (D)

B. (B)

C. ()

D. (A)

\’D
A,
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Sol. 198 = 2x3%x11
78 = 2x3x13

HCF = 2x3 = 6

20.Ta 3T 4 fRaY./aer fr afa ¥ 3 °g¢ Forar
¢ 3R TAE g W arow 16 e/ & afy
¥ glzar rar g alss & 39 garr forr rr
AT AT |

(A) 45 Tt (B) 72 f@ee

(C) 30 &= (D) 42 fA=c

A. (B)

B. (D)

C. (A

D. (C)

Sol. Distance = 4x3 = 12km
Time in running = 12/16 hr = 3/4 hr = 45
minutes

21.7s IEET Fole & FiEg & g3+ av¥ 15%
#r gefar gl & I adAeT Hew 60,00,000
TOY g, dr 2 a¥ & a1 3T HAd fhde g
(A) 78,00,000 TU (B) 83,45,000 T4

(C) 85,39,500 ¥4 (D) 79,35,000 Tu

A. (D)

B. (A)

C. (B)

D. (C)

Sol. Cost after 2 years = 6000000(1 +
15/100)(1 + 15/100)
= 6000000%1.15x1.15 = 7935000
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22 II0TFg &l TUeh g AHTH &1 UT?

:

C
z

©ow>»
A@A

Sol.

e Chanakya was an ancient Indian teacher,
philosopher, economist, jurist and royal
advisor.

e He was also known as Vishnu Gupt.

e He assisted the first Mauryan emperor
Chandragupta.

23.qF 1 FST R ATEIH A 3o gl §7?
(A) TRATI] Herdel (Nuclear Fusion)

(B) T FaiT (Solar Power)

(C) 3~aT fdegd (Thermal Power)

(D) I&carehyoT Fait (Gravitational energy)
A. (D)

B. (C)

C. (B)

D. (A)

Sol.

o WA Fordel I H GR Foll IcTeed el
foT SFAeR gl

* TF FISSIoTT A3 & Eiforaw 7 aRafdd
T &
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o ATTHPT FIA TRTHATIN & Ahelel aTell
Fofl AR$T A 3R e H AErg & fav
SFAeR B

24 [AFTAfEd # @ Hacharol & fav glomay
QE&HR  (Dronacharya Award) fhgel  9red
foram?

(A) T&=RoT T8E (B) Jerar &g

(C) fSiex e (D) Fsha F#AR [

A. (B)

B. (D)

C. (A)

D. (C)

Sol.

e Gurcharan Singh is an Indian Professional
boxer.

e He received the Dronacharya Award in
boxing in the year 2004.

2530 AWl # YATIE (?) & TUE TR e
d@r gear 3muef?

26, 29, 33, 38, ?, 51

A. 44

B. 42

C. 46

D. 49

Sol. The series will be,

26+3 = 29
29+4 = 33
33+5 = 38
38+6 = 44
44+7 = 51

hence, option A is the correct response.
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26 fAFfaf@d & @ Hla A1 AT AEIehell HT
foe @ ST e 872

(A) & feeelr (B) darefe

(C) Ha% (D) d2TE

Sol.

e Chandigarh was planned by the famous
French architect Le Corbusier.

e |t is a union territory in India.

e |t is internationally known for its architecture
and urban design.

e |t is located near the foothills of the Sivalik
Range of the Himalayas

27. 7R & (Mariana Trench) frd AR
H g g2

(A) 3cdifced FAFERR

(B) e AGHIRR

(C) fewe FHgrIR

(D) &faofr AgraPR

A. (D)

B. (C)

C. (B)

D. (A)

Sol.

o AR &7 IR 3a8 Jerid FAFHER & dol
A g TR0 qAHA TS ¢

o 3RIFTA AT TES 10,984 HieX gl
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o SHHN ATH U & ARIAEAT T THg & A
T @1 I g

28.ts M & TAAOT & Hed I AHA, HHA
3R fAaReEa @ & g & Ster 3w 3R 3T
3rqard 5:3:1 §| afe smafed forar aran sifaRerd
T 1,49,500 9 | ot A & Hed & ael
|

(A) 7,47,500 ¥4 (B) 13,45,500 T9&

(C) 13,78,800 Tu¥ (D) 14,22,200 T4

A. (B)

B. (A)

C. (C)

D. (D)

Sol. Ratio of costs- Material : Labour : Extra
Expenditure = 5 : 3 : 1

The Price of Machine = Material + Labour +
Extra Expenditure = 9 units

Extra expenditure = 1 unit.

Given 1 unit = ¥ 149,500

Hence, 9 units (Price of Machine) = %
13,45,500

29.37 T St @ (ONGC) T H&ITerd Fgl e
g2
(A) fespTe

(B) rser
(C) Taem@radete

(D) feeeir
A. (A)
B. (D)
C. (C)
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D. (B)

Sol.

¢ ONGC is Oil and Natural Gas Corporation.
o |t is India's largest oil and gas exploration
and production company

e The head office of ONGC is in Delhi.

30.3ifRar 40 #Hrex s 3R 30 Hiex disrg
Jrel Toh AAAHR Wd & &l # @S g| IS
3ifhar shaer AT & Ty gisdr § 3R aRfA=
foeg o aroq 3m St § v fehar @rT F
fohreett gt oo & 715 &2

(A) 100 #Hrex (B) 80 #Hex

(C) 140 #rex (D) 120 #Hrex

A. (A)

B. (B)

C. (C)

D. (D)

Sol. @t #T &ars = V (302 + 40%) = 50 #H
ik a8 ol a0l & @Y H g W ol 3m$
o,

gaferT el gff = 50 x 2 = 100 #

31.5 ofiex el & fAsor & 6% e §, 38F O
1 &eX 9relt H19 §ef SITar 8| AW fAsor & el
1 gfard Jd #37?

(A) 5% (B) 7.5%

(C) 6% (D) 4%

A. (C)

B. (D)

C. (B)

D. (A)

\’EI
A,
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Sol. 9RfA® fFsor & @l = (6/100) x 5 = 0.3
aex

Ay fASOT F U

3H ghR, AT & 96 = 5 - 0.3 = 4.7 oeX|
e i 1 Me ueEh arsdighd g §:

fRsor & gy Y J$ AT = 3.7 e

ar, 3ifas @sor & el # 1 gfdea = (0.3 7 4)
x 100 = 7.5%

2. frafaf@a afeat & @ &l @ adr afRaw
ge # ¥ e §?
(A) TR

(B) psom

(C) g

(D) &=t
A. (D)
B. (B)
C. (C)
D. (A)

Sol.

+ FUT 4T, 1,300 X & Farg W FUd
ABITRaT & fehe ufiRgeT g & Adhear B
+ 9f¥eelt g @ wae arelt yog@ 7 gonfear
Afear gl

33.FgeY & HEH A o (LAN) & &Far dread
g7

(A) omefte TRAT  Acas  (Largest Area
Network)
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(B) olieher TRAT sicash (Local Area Network)
(C) oieTer URAT sicash (Legal Area Network)
(D) diedkec TRAT Acash
Network)

A. (D)

B. (C)

C. (B)

D. (A)

(Longest Area

Sol.

e A local area network (LAN) is a group of
computers and peripheral devices that share
a common communications line or wireless
link to a server within a distinct geographic
area.

e One LAN can be connected to other LANs
over any distance via telephone lines and
radio waves.

34.7f¢ ferdl gesmar # SCHOOL &I FPUBBY
forem S § @ COLLEGE 2reg & foT dr=r &t
378 AT IEM?

(A) P (B) B

(C) R (D) Y

A. (A

B. (D)

C. (C)

D. (B)

Sol. The code of SCHOOL will be,
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O+13 =B
L+13 =Y

similarly, for COLLEGE

C+13
O+13
L+13 =
L+13 =
E+13 =
G+13 =
E+13 = R

- 1 <X <> T

The middle letter is Y

Hence, option B is the correct response.

35.FAff@a & @ Si9 @ T des o &
¥ ger foar &2

(A) areiaier (B) &forar

(C) sgaiel (D) ST&he &iel

A. (C)

B. (A)

C. (B)

D. (D)

Sol.

e Baseball and softball were voted out of the
2012 Summer Olympics in London.

e They were removed after the 2008 games
because Major League Baseball refused to
allow its players to participate.

36.A1 Y IR 3ok alg Fo f@vhy fu a1w
g 3R QU T FUAT A TE AT X doAeT

10
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¢ AR 9 gET A9 dat @ @ed gdd gl
gl

hed;

1. gforam & ol o Sor o cATsRer grfler
oTeT T &l

2. AT eTper AHH T Y

oS

|. 3McAfNIR aote 3/ B

II. AT s HAMA T Jofelm & TS e
gl

ag fIfaw & o = sia ar (@) @By e
AT HYAT HT ATfRS T H HTAIT HAT ()
g @)

A. 1 3R 11 ST 37TEReT Fd g

B. IS 3HTEROT ¢! &l &

C. da fsehy || 3eTEROT FaT 3

D. &del ey | 37eTER0T T B

Sol. It is mentioned in the given statement
that No country in the world has gained self-
reliance but this doesn't mean that become
self-reliant is impossible thus conclusion | is
not implicit. It cannot be concluded that
human labor is more productive in
comparison to the machine just because
Mechanization is failed completely thus
conclusion Il is not implicit. So, none follows.
Hence, option B is correct.

37.%@%@%@%% 24\5 &
ar sger oA A1 Hifrg)

) 216v6 () g6

Gradeup SSC & Railway Super Subscription

' A Access to all Structured Courses & Test Series

-

o

gradeup

© o () 12/6
A. (A)
B. (D)
C. (B)
D. (C)

Sol. Area of equilateral triangle = (V3/4)a® =
2443

a =96 = 46

Perimeter = 3a = 126

38.39c My (Robert Galbraith) &I SgaX
ale § FE A F ST 87

(A) 3mmeT fhEdT (Agatha Christie)

(B) T&s=r essT (Sidney Sheldon)

(C) wias defrselel (Enid Blyton)

(D) St.ah. feldT (J.K. Rowling)

Sol.

¢ Joanne Rowling known by her pen name J.
K. Rowling, is a British novelist, screenwriter,
producer, and philanthropist.

e She is best known for writing the Harry
Potter fantasy series.

39.1 fafersT /1000 FaT &2
(A) 1 &5 (B) 1 o

(C) 10 &g (D) 10 o
A. (D)

B. (B)



http://www.gradeup.com/
https://gradeup.co/super-subscription/ssc-exams?source=eyJwYWdlTmFtZSI6IlNTQ2F0YWxvZ3VlIiwic291cmNlIjoiRXhhbUxpc3QifQ==

www.gradeup.co

C. (A)
D. (C)

Sol. 1 billion = 1x10°
1billion/1000 = 10% = 10 lacs

40.5178 &an aiforqg, faemer 3R sfagra & urcg
frdr a3 3fept &1 3t 89 @ IfE 38 o &
3 oY S5 Y a1 | o 3iaa g¢ ax 88.25
gT ST §| ST 3 3HE GART IO 3 AT |
(A) 90 (B) 82

(C) 86 (D) 83

A. (C)

B. (B)

C. (A)

D. (D)

Sol. Total marks excluding language = 89%3
= 267

Total marks including language = 88.25x4 =
353

Marks in language = 353-267 = 86

41,
fArrfaf@d g # Ru arv R{ewedt & & w@eaftT
qeg F A

AT : AcET-AN = ? : Pl
A. difeat

B. =X

C.

D. foiesfr

Sol. ASC & FHE &I MeT & & H ST STl
el

\’EI
A,
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gHl o¥g, <ifedl & HHG & Hlollell SHgl ST &
gdfoT, e faded A Bl

42,37 FIg Ifed fordr 9fdq & a&r 3k &
149 T W @I, o 9iFd A ST fohcer ofter §7?
A. 24
B. 25
C. 27
D. 26

Sol. Number of people in the row = (14x2) -
1=28-1=27

Hence, option C is the correct response.

43.3f¢ HIDE = 1440, af WIDE &1 glTr?
(A) 1560

(B) 3265
(C) 4140

(D) 2580
A. (B)
B. (D)
C. (A)
D. (C)

Sol. The code for HIDE -
H-38

I -9

D-4

E-5

HIDE - 8x9x4x5 = 1440
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Similarly for WIDE

W - 23

-9

D-4

E-5

WIDE - 23x9x4x5 = 4140

Hence, option D is the correct response.

44,

faéer fArafaf@a wa & o avdeg Gr aw
¢ e 3 Fo qalgAre @ v §) 3
AT § & aoded 97 § 9% 98 9Ha:
A deat § Bt gl giar gnl e Ao
F & U 70 q@igae 7 @ Fia-ar Al
T F P T IGAS RIS T F I B

qFaH
(i) Tefr 3 ;S g

(i) $& a9 AS §

(iii) T MeTPR Hel HS
(iv) St T ST ®er @1 W@ B

(A) Sielt U @ @1 T
(B) Sielt &1 feq gde e &
(C) Sl Tsh AN @ W g
(D) St 3T @r W E

A. (D)

B. (B)

C. (A)

D. (C)

Sol.
Assumptions :

Gradeup SSC & Railway Super Subscription

' A Access to all Structured Courses & Test Series

-

4

gradeup

(A) Jenny is eating an apple - It cannot be
assumed because not all Apples are sweet.
(B) Jenny don’'t like lemon - It cannot be
assumed because all round fruits are sweet
and jenny is eating a sweet fruit, so we can't
say.

(C) Jenny is eating an Orange - It cannot be
assumed because all round fruits are sweet,
all mango are sweet and jenny is eating a
sweet fruit, so we can't say.

(D) Jenny is eating mango - It can be
assumed because it is given in the statement
that all mango are sweet and jenny is eating
a sweet fruit.

So, only assumption (D) is implicit.

Hence, the correct option is A.

45.Cosec x tan® + cos® &I AT ATd |
(A) Sin 8 (B) 1/sin’g

(C) 1/cos®6 (D) cos 6

A. (B)

B. (A)

C. (D)

D. (C)

Sol. Cosec6 x tanb+cos6 = (1/sinf) x
((sinB/cosB) x (1/cose)) = 1/cos?e

46.5faeT Hr HAHT SHIS (unit) FAT g2
(A) FfAr (Cell) (B) 39T (Organ)

(C) Fd= (Tissue) (D) =T (Nucleus)
A. (D)

B. (B)

C. (A

D. (C)
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Sol.

e A cell is the smallest unit of life.

e |t is the basic structural, functional, and
biological unit of all known organisms.

e [t was discovered by Robert Hooke in 1665.

4738 FAUA HT Il - ST ATEROT STTST hr
8% af¥eh eX ¥ 9 AT & 1000 TIX g AT
&7
(A) 781.40 ¥9¥ (B) 981.40 Tu
(C) 943.40 TU¥ (D) 843.40 TWX
A. (D)
B. (A)
C. (C)
D. (B)

Sol. | = PRT/100

A-P = PRT/100

Here time = 9 months = 3/4 years
1000-P = Px8x3/(4x100) = 3P/50
53P = 50000

P = 50000/53 = Rs.943.40

48.2rse ‘faya’ (equinox) HEfd &I &2

(A) Teh FHA TR

(B) f&eT 3R U U AW 3a & BT
(C) a1t 3 wéf U WA AT F AT
(D) HIEH s FA 3 F g &

A. (A)

B. (D)

C. (B)

D. (C)

Sol.

\’EI
A,
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o faya dfed wsel @ 3mar & AR H AT &
A, AR A" @ 3 g Al

o clt, faYa erse T AcTord T 3R AT T FHT
FHIAER B

o T AV T BIc & Sfd I AT 1@ § @
TSR &

49.3f¢ T aE] H 3,735 TUF H dUAd W Th
geleTaR &l 10% T gt gich ¢ ar 9 38 favctel
T H 9T 6 38 10% & a1 g2

(A) 4,150 ¥9& (B) 4,565 T4

(C) 4108.50 ¥4 (D) 4518.50 Tqx

A. (A)

B. (C)

C. (D)

D. (B)

Sol. Let x be the CP

Since he loses 10%

SP = x - 10% of x

= 0.9x = 3735

or x = 3735/0.9

After 10% gain

SP = 1.1x = 1.1x2735/0.9 = 11x3735/9 =
4565

50.8Rcir faaer Tvurer gl W Reud &2
(A) YT (B) saTefe

(C) H3 (D) IS

A. (B)

B. (A)

C. (D)

D. (C)

Sol.
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e Indian Institute of Science is a public
university for scientific research and higher
education.

e |t is located in Bangalore.

e [t was established in 1909.

51.15 3Mea T T & 10 et & FT Fa
g Ife FF AT WA F v 10 3R e
O Y S § O Y gETT B & e
AT SPEM?

(A) 8 (B) 10

(C) 15 (D) 6

A. (C)

B. (D)

C. (B)

D. (A)

Sol. M1D1 = M2D2
15x10 = 25xD2
D2 = 6 days

5238 ¥ i AT IAI@h IRadd H Th
30T 872

(A) FEdquresT (Sublimation)

(B) Twiech®T (Crystallization)

(C) fAfSsfiaor (Neutralization)

(D) 3mHaeT (Distillation)

A. (C)

B. (A)

C. (B)

D. (D)

Sol.
« ATSRAeoT Taraf@e wfafhar #1 us 3eEor
gl

\’EI
A,
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o T fATSHAHIOT yfafhar d« gidl § 59 Tah
37 3R TF &R el AR Te FHF Tl &
fore gfafsrar aar § 3R 396 9l 3cdest et
& foT w3 + 3Er AR ATT-3Er F1 G
giaT &

eTh HAqd 3IFA IR AT &R &
FICATSARNT HT U0 7 & SR &

53.37H ¥ dld Teh HRAT IIf0idar o7
(A) R (B) ST=TT

(C) #rEa (D) srasffc

A. (C)

B. (A)

C. (B)

D. (D)

Sol.

e Bhaskara was born in Bijapur in Karnataka.
eHe was an Indian mathematician and
astronomer and is known as the greatest
mathematician of medieval India

e Lilavati is written by Bhaskara .

543 10 q2W 8 ot & weh #gX &I Gars
Fehel § al 15 TR 0 &1 H QW & & o
fohder &g wer?

(A) 12 (B) 7

(C) 6.67 (D) 5.33

A. (C)

B. (A)

C. (D)

D. (B)

Sol. M1D1 = M2D2
10x8 = 15xD2
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D2 = 16/3 = 5.33 days

55.87Rc & 2016 H HTT ~graefer HiT A?

Sol.

e T. S. Thakur was the 43« Chief Justice of
India.

e He was appointed Chief Justice of India on
18 November 2015,He retired on 4 January
2017 on turning of 65 years of age

56.U7 #T ‘IGH @ TqE HY § S FS A
S

(A) Taerms

(B) &mam

(C) &sif

(D) Rars #fa

A. (B)

B. (D)

C. (C)

D. (A)

Sol.
Similarly, Tailer uses a needle to sew.

As, the writer uses a pen to write.

Hence, option C is the correct response.

57.99¢ §3T TAQAIR™T (mammal) HisT ar g2
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Sol.

e The blue whale is a marine mammal
belonging to the suborder of baleen whales.
e At 30 meters (98 ft) in length and 180
metric tons (200 short tons) or more in
weight, it is the largest known animal to have

ever existed

58.UTAE $U fhE Wl & 3T 872
(A) e (B) dsfdes

(C) eael g (D) glehr
A. (C)
B. (B)
C. (A)
D. (D)

Sol.

» UTAE &9 T & dRas il P SsfAe
gos % (BWF) & Hexg i &1 ufafafaea
A arell AT & AT Th IR JsfHea
gfaafarar g

+ SHHT TATAT 1949 # g5 M

16
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59.2 3@l HT ar HEAHT FT IUEHA 2160 B
3 FgaH FAES (LCM) 180 §| Heamd
AT |

(A) 72 3R 30 (B) 36 3R 60

(C) 45 3k 48 (D) 54 3R 40

Sol. LCMxHCF = Product of two numbers =
2160

HCF = 2160/180 = 12

Let the numbers be 12x and 12y

144xy = 2160

xy =15

Since numbers are of 2 digits

x=3 and y=5 will satisfy the condition

Ans = 36 and 60

60.fFFT & 377 @ TheA Fee A1 T
Running, Jumping, Yoga, Jogging

(A) glzaT (Running)

(B) Fee (Jumping)

(C) IaT (Yoga)

(D) <gerer (Jogging)

A. (A)

B. (D)

C. (O)

D. (B)

Sol. Running, jumping and jogging are the
part of the exercise. Yoga is completely
different from the rest.
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Hence, option C is the correct response.

61.gfar & el Se arel g@Ed He@ a5 HIT
dleT AT 82

(A) HsReT

(B) wufarer

(C) 3PSt

(D) fewer

A. (A

B. (B)

C. (D)

D. (C)

Sol.

+ i T AR gieran A Fe@ 3w deh =
grell HTYT gl

+ TR gfarar & qEdl qed R Sl S
grell T gl

62.afe JESUS &I EZNPN If3d fFar ame ar
JACK & gram?

(A) EXVG (B) EVXF

(C) EWYH (D) EVWF

A. (C)

B. (D)

C. (B)

D. (A)

Sol. JESUS is coded as,

wCcwme«

($ NS TS IS, IS )
1l

Z vz NM
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JACK will be coded as,

J-5=E

A-5=V
C-5=X
K-5=F

Hence, option C is the correct response.

63.fAefafld | T i a1 wgaas ey
(porous) &2

(A) et fAeer (Sandy Soil)

(B) ame-s1r AT (Silty Soil)

(C) e e (Clay Soil)

(D) @Y fACEr (Saline Soil)

A. (B)

B. (C)

C. (A

D. (D)

Sol.

¢ Clay soil is the least porous sail.

e The spaces between the molecules of the
soil are less and water cannot pass through
them.

e Porous soil is made from coarse particles
that leave large gaps known as pores.

64.

|[ICommon]{|

- Amafaf@a afoer &1 3rtgaa &= A
U 1T yeAt & 39X dIfoT:

arforer et i dear gt & Sas
g affesT A0t (ranges) & 3ided few
EJIg
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10{20 |30 (40 |50

60 |70

11-|21-|31-|41-|51-|61-

71-
80

81-
90

farcznterat

$T g

16 |22 |26 |18 |11

I|End]|

3o Rt & gfaera &= § e 41% &
70% & & 3 9o fhu?

(A) 55% (B) 45.8%

(C) 35% (D) 11.83%

A. (B)

B. (D)

C. (C)

D. (A)

Sol. Total students = 120

Students between 41%-70% = 26+18+11 =
55
Total no. of students =

5+9+16+22+26+18+11+6+4+3=120
55/120 x 100

Percentage of students =
45.83% = 45.8% approx

65.3f¢ 30T ufaerd 41 & af fFaa gfaera
Fareelf et g2

(A) 40% (B) 62%

(C) 43% (D) 22%

A. (D)

B. (B)

C. (A

D. (C)

Sol. Total students = 120
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Students who scored 40% or less=
5+9+16+22 = 52

Percentage of students who scored 40% or
less i.e failed = 52/120 x 100 = 43.33% =

43% approx

66.fhrds gfaerd Azt o 80% & Samer 3
EIS R Caur

(A) 7% (B) 5.8%

(C) 8.5% (D) 8%

A. (D)

B. (C)

C. (B)

D. (A)

Sol. Total students = 120
Students above 80% = 4+3 = 7
Percentage of students = 7/120 x 100 = 5.8%

67.0 G H 25 YT gl Ucddh TEr 3 &
T 4 3% T a1v § 3R 9+ Ted 3R &
T 2 3% &¢ IT gl IR AT A 70 3
gfler fohw, ar fohder weeT @@r g7

(A) 10

(B) 15
(C) 20

(D) 22
A. (A)
B. (C)
C. (D)
D. (B)
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Sol. Let n be the number of correct questions
attempted.

AT.Q.:
(+4) x n + (-2)(25 - n) = 70
= 4n - 50 + 2n = 70

= 6n =120

68.A 3R B & ddel &1 JeT 25,000 T4 & o
39T ddeT AT 75% T I &, JeTehl Sad &l
3T 14:11 §, T9F & 3oTeh dclal &I Il ofaTTd|
(A) 15,000 3R 10,000 T9

(B) 14,000 3R 11,000 T9

(C) 13,000 3k 12,000 T

(D) 12,500 ¥4 Tcdsh

A. (C)

B. (A)

C. (B)

D. (D)

Sol. Since both save 25% of their income.
So, their salaries are in the same ratio as
their savings = 14:11

So, salaries are Rs.14000 and Rs.11000.

or

Let the salary of A is Rs x.

Therefore, salary of B is (25000-x).

Since both save 25% of their income.
Therefore, according to question:

25% of x: 25% of (25000-x) = 14:11
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By solving it, we get
x = 14000.

69.3eeforar &1 @aw 3f¥e el &R arer
BT HieT AT &2

(A) SsTsRT (Canberra)

(B) &=+ (Sydney)

(C) Aa&laT (Melbourne)

(D) 9 (Perth)

A. (D)

B. (B)

C. (A)

D. (C)

Sol.

e The largest city in Australia is Sydney, with
a population of 4,627,345 people.

¢ But the most densely populated city is
Melbourne.

70.0.000825 + 0.05 & AT T ¥?
(A) 0.0165 (B) 0.165

(C) 0.00165 (D) 0.015

A. (B)

B. (D)

C. (A)

D. (C)

Sol. 0.000825 + 0.05 = 0.0165

71 ot & @ &l @ T Iepse (@A)
erg 272

(A) =T (Iron)

(B) =T (Silver)

(C) &¥g (Bronze)
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D) TeHI@IA (Aluminum)
C
D
A

(
(
(
(B

)
)
)
)

oo wp

Sol.

o TE TH 3FST (AT U1 B

o T YU § S FF gar & Sier 3R oo
& T ufarre g

o JIET Teh TAAAS ded & ToTael Idieh Ag ¢l

7295\ #H AR GaRT 39T fHU S arel
TaafAs g @ 39T [fY Fas IR fr
Aqr?

(A) 93 =R (Louis Pasteur)

(B) A& draer (Robert Boyle)

(C) sfaferaa (Berzelius)

(D) SifeT 3Teest (John Dalton)

A. (B)

B. (A)

C. (D)

D. (C)

Sol.

e The Swedish chemist Jons Jacob Berzelius
was one of the first European scientists to
accept John Dalton's atomic theory and to
recognize the need for a new system of
chemical symbols. He was a dominant figure
in chemical science.

e Berzelius's work with atomic weights and
his theory of electrochemical dualism led to
his development of a modern system of

chemical formula notation
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73.Ffaf@a e # Qe av fOeedr & &
favs g giav|

A. SEETER

B. I

C. fag

D. §eeX

Sol. Out of all the options, only 'Dinosaur' is
an extinct animal.

Hence, option A is different from others.

74,

[||Common||| FFafaf@d SeRT & ead &
a¢ 3R U 71T 9T 1 3 &
PARRAA g S@ar der S| L, KFT AT §
St S & @Eer s ¥ [|[End])|

A & L 8 F1 §aY g7

(A) & (B) Y

(C) wetr (D) &=t

A. (D)

B. (C)

C. (B)

D. (A)

Sol. The relation will be,

P,
J
"

s=K

\’D
A,
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Hence, option C is the correct response.

75.A & K & &1 §Y g7
(A) T&ar (B) ATar

(C) &X (D) ¥

A. (C)

B. (D)
C. (A

D. (B)

Sol. The relation will be,

Pm
I
V4

=
S=K
Hence, option C is the correct response.

76.

P @& L & &1 §a¢ §?
A. TET

B. ser

C. frar

D. g3ag

Sol. According to the given information,
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Pm
)
0

s=K

As per the above diagram, it is clear that P
is the Father in-law of L.
Hence, option A is the correct response.

77.@1 ¥llceh (positive) quUIiehl T J[UTAHeT 375
g ST U HEAT A g@l weAr ¥ fentora fehar
JTAT & ar 5/3 99T g T8 BT &AT H I
Y|
(A) 15

25
) 20

5B

(

A"
—
>T O 2

—_ o~ M~ —~
~ ~~

Oow?>

Sol. Let the numbers be a and b.

Given, a/b = 5/3

Let a be 5x and b be 3x.

So, Product = ab = 15x*> = 375
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>x2=25=3x=5
So, the numbers are 5x = 25 and 3x = 15.

Hence, Smaller number = 15

78.5 fohell dielt fS@arr T Hea 15 T9A/fhelr
g dur 10 frelr T 37 fored & Al oraer
FT Ao 18 T/l §, 3Tt 3maw A AT
frar Smar & 3R 20 T/fFer & S e Srar
g ar o ufaera ara & ?

(A) 18% (B) 17.65%

(C) 17.5% (D) 19%

A. (C)

B. (B)

C. (D)

D. (A)

Sol. 15 el =l &1 %7 Foa = 5x15 + 10x18
= 255

15 favel el & fasha Hewr = 15x20 = 300
AT = 300 - 255 = 45

TS gferd = 45/255 x 100 = 17.65%

79.37¢019 : ©IF dr a49;
(A) FafrcareT (B) sidex
(C) 13l (D) gotererst

A. (C)

B. (B)

C. (A)

D. (D)

Sol. As teachers imparted Knowledge to their
students.
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Similarly, Nurse takes care of their patients.
Hence, option A is the correct response.

80.U% gHEIER 20% 3R 10% I T ThiAh
T &l & 3R 39 3cure & fAT 108 9 orelm
¢| SHH ArEdideh Hod AT HU?

(A) 142 T (B) 147 T0&

(C) 150 ¥9& (D) 153 T9&

A. (C)

B. (B)

C. (A

D. (D)

Sol. 3ifhd Hea & P
aﬁ-!

IR SEIER &l e & Sl g a,

f¥shr #eT = P x(100-20)% x (100- 10)%
108 = P x 80/100 x 90/100

P = 150 Rs.

81.gHY dg g & ar wla 42

(A) §csg ATy 1 (B) Sefeht ATY &1
(C) Serérer @ i (D) TH.UA. a1

A. (D)

B. (A)

C. (C)

D. (B)

Sol.

e Janakinath Bose was the father and
Prabhavati Devi is mother of Subhas Chandra
Bose.
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¢ Netaji Subhash Chandra Bose was born on
23 January, 1897 in Cuttack (Orissa).

e Janakinath Bose, was an affluent and
successful lawyer in Cuttack and received the
title of "Rai Bahadur"

82. AT R H TS BIET g3 dileT AT 72
(A) RFI3T (Tibia)

(B) ¢ufS@& (Trapezium)

(C) TS (Stapes)

(D) SITer T g33r (Femur)

A. ()

B. (B)

C. (D)

D. (A

Sol.

e The stapes is the smallest bone of the
human body.

e |t is the third bone of the three ossicles in
the middle ear.

83.uTRTEUTAHT dF (ecosystem) FHI HeheUaT i
foraer g forar ar?

(A) 3R g (Arthur Tansley)

(B) waferr gfdd@a (Evelyn Hutchinson)

(C) W@ foi3d=T (Raymond Lindeman)

(D) aTed Teed (Charles Elton)

A. (C)

B. (B)

C. (A)

D. (D)

Sol.
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« qIREUTART dF Asg F Ugell SR STAHATS
1935ﬁ§3rrm|

o 3UHN SEAATA fafeer sHdifaee M =aal
o forar an)

o 3581l 3P 3UAT Sat 3R 3o ATawor &
I AHA F FEACROT & Hged W &I
IHRNT FA & o

84 9Tl & TEr T I T I
7 __7__7__  7=14

(A) X,+,+

(B) +,+,x

(C) -x*

(D) +,x,+

A. (B)

B. (C)

C. (D)

D. (A)

Sol. from option D,

7+7x7+7
7+7
14

Hence, option D is the correct response.

85.¢M8¢ U« (Light Pen) T §?

(A) ARl fea 9= (Micro tip pen)

(B) 49¢ fSarsd (Input device)

(C) 31N # for@sr & fAT U7 (Pen to write in
the dark)

(D) #IRed 9 (Weightless pen)

A. (D)

B. (C)
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Sol.

¢ A light pen is a light-sensitive pointing input
device commonly used to select or otherwise
modify text or data on a screen.

e Used with a CRT monitor, these devices
were an early form of manipulating and
highlighting data on the screen.

86.fe + T 7T -, x T HT +, - FT 7T x Tg
+FAT =g al, 7x3+2-24x4F AT
are?
A. 1
B. 47
C.6

D. 21

Sol. 7x3+2-24x4

After changing the signs,
7+3+2x24 +4

7 +36 + 4

47

Hence, option B is the correct response.

87. 9 &I 3R 334 aTell THAT Uall Hi @r
g7

(A) gf&aes (Hummingbird)

(B) T (Kiwi)

(C) 3tearera (Albatross)

(D) &1 (Eagle)

A. (C)

B. (D)

C. (B)
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D. (A)

Sol.

o gfATEs o ugh § S 3mY i 3R 33 FHS
g, Hete oo §, 3R Ty & i fr 3R 3z
arel THATT AT g&l gl

ogfHITS A Uk gfady AUl IR Tm
T BT & S 3o 38T Q=0T T 3wd TR
UeTd T g

88.Uh g Aeth & fhdl REd & 30 g&ash
39-IE & FEd g Yods A gEde Uh
3N TReT T F IeTe-aere & T
gl AT Al & 3ETel-S9Td Tah  fgoar
3YSATH & U1 1S 3 AT ATl JEh faire
qEd® & TSI e 3] et 3R Rl
& HIl o T qEY & 3Tl S @
el ofe ardt @ faaer i gEas g ar et
3 Y GEhT T FATAT haT FAT gran?

(A) o=, 3ReT arfecy, aHe A, Rear
(B) fa=iret, 373l &fgey, fewdl, A= AT
(C) AT, ey, 3EIe AIfgcy, AT AT
(D) aaTeT, fedY, I A1, 3ideh arfgey
A. (A)
B. (B)
C. (C)
D. (D)

Sol.

The possible order will be,

Every book on Science is adjacent to English
book,

Science - English
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Every Hindi book is adjacent to G.K. Book,

Hindi - GK,

No G.K. Book is adjacent to Science Book,

Science - English - Hindi - GK,

Also,

English and Hindi Books are not adjacent
together,

Science - English - GK - Hindi

Therefore,

Science Book is in the left, so final
arrangement will be,

Science - English - GK - Hindi

Hence, the correct sequence is -(A) Science,
English, G.K., Hindi.

89.afe v HEAT & 2/3 Fr 1/4, 100 &, @ 98
&I T 82

(A) 400 (B) 600

(C) 300 (D) 500

A. (A)

B. (D)

C. (C)

D. (B)

Sol. Let the number be x
2/3 x 1/4 x x = 100
SO x = 100x4x3/2 = 600

90.fd=mra & fcwid frds garT yEarfad frar
T AT?

(A) Tred s1fdaT (Charles Darwin)

(B) aTed f3%=w (Charles Dickens)

(C) 37ea¢ 3MSEE (Albert Einstein)
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D) 3mSsieh #g¢a (Isaac Newton)
B)
A)
C
D

(
(

oo w >

(C)
(D)
Sol.

e The theory of evolution by natural selection,
first formulated in Darwin's book "On the
Origin of Species" in 1859, is the process by
which organisms change over time as a
result of changes in heritable physical or
behavioral traits.

e Darwin himself had no knowledge of
genetics and therefore, his theory of natural
selection as an explanation of evolution was
based solely on what he observed and knew
at the time.

91.Y AT &Y, TY
(A) 2.5 (B) 4.25
(C) 3.75 (D) 3.25
A. (A)

B. (B)

C. (C)

D. (D)

Y+1 Y+2
—+
Sol. “° 5
Or5Y + 5+ 3Y +6 =3x15 = 45

Or 8y = 34
OrY =425

_
=2
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92.fhd 3IRUY T qd H AR vell I3ARoT
& & A ST ST AT?

Sol.

« Keoladeo National Park or Keoladeo Ghana
National Park formerly known as the
Bharatpur Bird Sanctuary in Bharatpur,
Rajasthan.

e The recent name Keoladeo, given to the
Bharatpur Sanctuary,is derived from an
ancient Hindu temple, devoted to Lord Shiva.
e |t is a famous fauna sanctuary that hosts
thousands of birds, especially during the
winter season.

93.7# e (Trapezium)Tsh Tqsfst & foraehl-

(A) T 3eE TH AT el

(B) Rl sgamd v AT gl

(C) TR faoda o3t & ar e & &
(D) FAEeR fauld a3 &1 v Sher grer
gl

A. (A)
B. (C)
C. (B)
D. (D)
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Sol. HHeFS TGS H FHR N3 & TH
ST glar & | safeaT 358 D g |

3v121 - 361
94 & &L J529 +2.36

(A) 3/5

(B) 4/7
(C) 1/4

(D) 2/5
A. (D)
B. (B)
C. (C)
D. (A)

3121 -4361
Sol. /529 +2.4/36

Ix1l — 19
23 + 2x6

(33-19)/(23+12) = 14/35 = 2/5

95.ts fAfR™d fe o # PORT & 2491,
MUCE &I 6538 for@r simar | COMPUTER
g gR for@r Srea|

A. 21456789

B. 34625189

C. 24618795

D. 34582196

Sol. P - 2
O-4
R-9
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and,

moOcCc=Z
0 w O o

Using the number codes of the above letters
we obtain the code of,
C-3

m 4 C T Z O
0 = 00N o b~

R-9
So, code of COMPUTER is 34625189.

Hence, option B is the correct response.

96.afe A= 3, 6, 7, 11, x, 15, 19, 20, 25, 28
IR T H § AR AT 13 § ar x A9
HL?

(A) 11 (B) 12

(C) 13 (D) 14

A. (B)

B. (D)

C. (A)

D. (C)

Sol. Fef FEAW = 10 (FH)

SI¥ Hel HEI GH g ol A, & HEG
a3t & a8 g

Afger =(5dr @&ar + 6dr "@Edn) / 2 =
(x+15)/2 = 13



http://www.gradeup.com/
https://gradeup.co/super-subscription/ssc-exams?source=eyJwYWdlTmFtZSI6IlNTQ2F0YWxvZ3VlIiwic291cmNlIjoiRXhhbUxpc3QifQ==

www.gradeup.co

x =11

97.t% 90 #Hrex &eT &7 15 HeydFs & e
¥ 15 Ahs H Th Yol & IR Hcl g ol
TFSTS FI IT 9|

(A) 225 #eT (B) 135 #Hiex

(C) 315 #eX (D) 160 #Hex

A. (B)

B. (D)

C. (A)

D. (C)

Sol. Total distance travelled = Length of train
+ Length of bridge = 15m/s x 15s = 225m
Length of bridge = 225-90 = 135m

98.7fg el 2012 T 3ifae Fear a1 dr el
2011 & 3ifaa &1 Far ar?

A. T%aR

B. AIHAR

C. faar

D. shaR

Sol.

ik 2012 T 9 a¥ §

3a: 2011 & Wad & A T 3R weadr
2012 & @Y e & & For et v de
366 grf|

366/7, AY 2 A BT W

ar, 2011 &1 f&T ar fe&et ugel &1 &, ot f& 2012
Hr AR gl

safaw, weT B T@Er B

99.5H HHTST (Brahmo Samaj) & TEATISH HieA
Q7

\’EI
A,
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Sol.

e Brahmo Samaj is a reformist movement of
the Hindu religion that appeared during the
Bengal Renaissance.

et was started at Calcutta on 20 August
1828 by Raja Ram Mohan Roy and
Debendranath Tagore.

100.

A FYA R 3Tk G Fo Ay QU I g
YT RT 3T FAAT FI TE AT H ITodell &
qe A AT AT aed ¥ Ao gdha @ @l
CRICH

1.§E|Ta§?rﬂ%?clﬁo‘ra4’r%|

2. Sgd ER X @1 Far N H RS W@ E
IGACA R

(I) gar3it @ =gl gar f& fora ox faeara foar
Sre|

(Il) T JaT RN THE & dolg ¥ A9 ofeg 4
#eh ST g

ag fIfow & fear = i @ @) ey er
T HYell T cTfeheh T T AT BT ()
¢ (®)

A. Fact SHY | TEOT FT B
B. &aer fsay || 31eTEROT e 3
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C. HI$ IHTEOT AL el B
D. | 3R Il @&t 3TERor F §

Sol. ST fh, ®UAT #H 3eor@ fhar s § &
gaT S§d Hgcarhiel § 3R Sgd & @er gar 9w
dI ASC W IE 8, TorEh HROT AT R THE @
Ided @ Heh Sid 81 safav, sy Il srqeror
FT| I WHAAGT el T S ehell & 6
gar @l A JE AR g0 8 R 30 R W
faeara & arfee safav ey @1 aree st
frar o F&ar 1

sgfaT, RAseT B T&r gfafskar g

-
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